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Summative Assessment |11 - Model Paper
Mathematics
(English Version)
Time: 15 Min + 2 hr. 30 min. Paper-I Max. Marks : 40

Instructions: 1. Read the whole question paper and understand every question thoroughly,
without writing any thing. 15 minutes of timeisalloted for this.
2. Answer dl the questions.
3. Write answers to the objective type questions on answer sheet, but at same
place.

I.  Answer to all the following questions x1=17
Each question carries 1 mark.

1.  Determine the vaue of log;; + log;, (Problem solving)
2. If A={12 3,4} and B ={2, 4, 6, 8}, than find n (AU B) (Problem solving).

3. Veify whether -3 and 2 are the zeroes c¢f the polynomial x® - x* + X - 6. (Reasoning
Proof).

4.  Difference between atwo digit n.inber and the number formed by interchanging its
digitsis 36. Express this dati as an algebraic equation. (Communication)

5.  Explainthe characteristic of aline passing through points (-5, 2), (0, 2), (3, 2), (5, 2).

(Communication)
6. Find the roots of 6x? - 2x + 5 = 0. (Problem solving)
7. Provethat \/2 4 3 isaniriational number. (Reasoning Proof)
I[I. Answer all the following questions. Each question carries 2 marks. 6x2=12

8.  Find the area of arectangle whose length and breadth are the roots of the quadratic
equation x? - 6x + 8 = 0 (Connection)

9. Mark a point on the second quadrant which is equidistant from quodriatic axes.

(Representation)

10. If (3x4x5x7) + (19x21x23) acomposite number. Justify your answer. (Reasoning Proof)
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11. If 6thterm of aGP. is46875 and its 4th term is 375. Find its 9th term. (Problem solving)

12. Find the points of trisection of the segment joining the points (3, -2) and (-9, 4) (Problem

solving)
13. How can you say that the points (1, -5), (3, -2), (7, 4) are collinear ? (Reasoning proof)

[1l. Every question hasinternal choice in the following.
Answer to any one alternative. Each question carries 4 marks. 4x4 = 16

14. (@ If 1and 2 are the zeros of the polynomid find x* - 4x3 - 15x2 + 58x - 40, find
other zeroes if any. (Problem solving)

OR
(b)  Find the polynomials whose zeroes are (i) 3, - 4 and (i) /3, /3

15. (@ Findthe sum of al the multiples of 2 or 3 between 100 and 200 (100 and 200
are not included). (Problem solving)

OR

(b) If thethird and sixth terms of a geomeric progression are 12 and 96, then find
the number of termsin the progrexston, which are less than 2000.

16. (@ Whileahdicoptor isdescend:iny verticaly an aviation kit dropped fromiit. If the
height of the helicopter whari the kit dropped is 590 m. Find how much time does
the kit reach the ground, also find itsfina velicity before it touches the ground.

(Connection)
OR

(b) If Ganeshis 2 years elder to his sister, in how many years does he become a
voter ?

17. (@ Nedeshwent to market to buy mangoes. He had enough money to buy number
of mangoes which are five times the cost of each mango. If the cost of each
mango is 2 less, he would have get 12 more mangoes. With this data daw a
graph to find the cost of each mango and the number of mangoes. (visuaisation)

OR

(b)  Check whether the following pairs of lines are intersecting, pardled or coincident
lines. 3x + by + 2=0, 2x - y + 10 = 0. Mark their solution on the graph.
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IV. Choose the correct alternative for the following problems and write your answer A,
1

B, C or D on the answer sheet. Each question carries > mark. 10 x 5= 5

18 Standard form of 2° x 5° iS (Communication) [ ]
A) 64 x 3225 B) 200000 C) 20 x 10* D) 2.0 x 10°

19. Intherationd form of aterminating decimal number prime factor of the denominator is
(Reasoning proof) [ ]
A) 5only B) 2 only C)2or50nly D)Anyprime

P
20. Staded Region represented by the vern diagram ﬁD 0 (Communication) [ ]

A) PuQ B) PMQ C) P-Q D) Q-P

21. If 2isthe zero of apolynomial ax®+ bx? + cx + d, then the possible value of 'd" will
be  (Reasoning Proof) [ ]
A)1B) -1 C 2 D)0

22. Linear equation istwo variable among the following is (Reasoning Proof) [ ]
A) (x+1)(y+2) =0 P) (2x+1) + (y-1) =0
C)(x-1) +(2y-5=0 D) x(y+1) =0

23. Inaquadratic equation discriminam Is zero then the roots are (Communication) [ ]
A) red B) dictutict C) imaginary D) none

24.  Graph of a quadratic equation with two distinct roots (Communication) [ ]

A) _\1&4 B)AQP_ ) 3{ D)
25. Common difference of an APis 3. If 2 isadded to every term of the progression, then

the common difference new AP (Problem solving) [ ]
A) 5 B) 6 0 3 D) 2

26. Co-ordinates of apoint on X—axis, whichisat 5 units away from (2, 0) is (Problem solving)
A) (-3, 0) B) (7, 0) C)bothAandB D) (2,5 | ]

27. |If dopes of line segments AB and BC are equal then the area of AABC is [ ]
(Reasoning Proof)

A) Positure B) Zero C) Negative D) Imaginary
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Summative Assessment |11 - Model Paper
Mathematics
(English Version)
Time: 15 Min + 2 hr. 30 min. Paper-I1 Max. Marks : 40

Instructions: 1. Read the whole question paper and understand every question thoroughly,
without writing any thing and 15 minutes of time is aloted for this.
2. Answer dl the questions.
3. Write answers to the objective type questions on answer sheet, but at same
place.

I.  Answer to all the following questions. Each question carries 1 mark.

1. InAABC,DandE intsonAB & AC thatﬂ—ﬁ—}/l? t
: n , D and E are points on 0 AB AC 5. Represen

this data diagnamatically and label it. (Rep V)

2. How many tangents can be drawn to acircle from a point outside the circle ? Justify
your answer. (R & P)

3. How much cloth isrequired to set Lb a2 conical shaped tent with height 4 meters and
radius 10.5 meters. (P9

4.  Which has greater value among Cos 6° or Cos 60° ? Why ? (R & P)

5. Length and breadth of arectangle paper arein theratio ./3: 1. Thenwhat istheangle
made by its diagonal with itslength. (P9

6.  Find the probability of getting a prime number when adieisrolled once. (Ps)
7.  Explain the procedure to find median of ungrouped data. (Com)
I[I. Answer all the questions. Each question carries 2 marks.
8. Inaright angletriangle ABC right angled a B, aline BD L AC isdrawn and again

. AC AB .
DE 1 BC isdrawn. Then prove that BC = BE with reasons. (R & P)

9.  If alinedrawn through apoint on acircleis perpendicular to radius of the circle to that
point, then prove that it is tangent to the circle. (R& P)
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10. If radius of a cylinder and a cone are equal and height of cone is double of that of
cylinder, then fidn the relation between their volumesin the form of aratio. (Ps)

11. If Sec 6 +tan 6 =1, then find value of Sin 6 in terms of |. (Ps)

12. If unbiased coin istossed 4 times. Then what is the probability of getting no head
anytime ? (P

13. Draw aogive curve for the following data (R & V)

Ageintervae 0-5 5-10 | 10-15| 15-20 | 20-25| 25-30

No of persons 2 5 1 15 10 3

[1l. Answer all the questions. Each question carries 4 marks. Thereisinternal choice
for each question.

14(a) Construct atriangle with sidesAB = 4cm, BC = 4.5cm, CA = 5cm, and a so construct
another triangle with 2/3 of corresponding sides of AABC (Rep & V)
(OR)
(b) Draw acircle of radius4cm and construct (2 igents from a point 7 cm away from centre

of the circle. (Rep & V)

15(a) A cylindricd tank hastwo hemissheresat itstwo ends. The length of axis at its centre
is 11m and radius of ahemisphereis 3.5 m. Then find the capacity of the tank in litres.

(OR)

(b) A conica shaped tent hasto set up on acylindrica tent with itsradius of base and height
intheratio 2: 1. The heights of cylinder and cone are equal and ratio are 7.cm. Then
how much cloth is required to set up the tent. (Con)

16(a) Two men on the same side of atall building notice the angle of elevation to the top of
the building to 30° and 60° respecting. If the height of the building is known to be
h = 60m find the distance between the two men. (Ps)

(OR)

(b) A maniswatching atower from awindow of the hotel at the height 5m. The angle
of elevation of top of the tower is 60° and the angle of depression of foot of the tower
is45°. Find the height of the tower. (ps)
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17(a) The marks of students of x classin a mathematics exam are given here. Find median
of the data by drawing a ogive curve. (Ps)

Marksinterval | 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35| 35-40|40-45|45-50

No of students 2 4 6 7 10 9 5 4 3

(OR)

(b) Theinformation of membersof a club with their ages are given here. Find median of
the members ages by drawing two ogive curves. (Ps)

Agesinterva 21-23|24-26| 27-29 | 30-32 | 33-35 | 36-38 | 39-41

No of members 3 13 22 21 23 14 4

IV. Writecorrect choice of theanswer in the corresponding bracket. Each answer carries

> mark
5 mark.

18. In AABC the points E and F are on the sides AB and AC respectively. If AE = 4cm,
EB=45cm AF=8cmand FC =9 cri, then (Rep& V) ( )
A) EFLBC B) EFLAB <) EF/BC D) EF_LBC

19. p:Every angleinan equilatera trianglein 60°
g: Every anglein an equilaieral triangle is not 60° then (Con) ( )
A) g=zp B p=~-9 O ~p=q D) p=q

20. InaAABCareD, E and F are mid points of AB, BC and CA respectively. If AABC
= 16 cm?than are ADEF = ................. then (P9 ( )
A) 4 Cm? B) 16 Cnv C) 64 Cm? D) 32 Cnv

21. If theradius of two sphereareintheratio 1 : 3, then their volumes are in the ratio (s

A) 1:3 B) 3:1 C) 3:6 D) 1:27 ( )
22. Inaright angle AABC right angled at B, then the relation exist (R& P) ( )

A) Sin(90-A)=SnC B) Cos(90-A) =SinC

C) Cos (90-C) = Cos C D) SnA=SnC
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23. For an acute angle A, Sin A = Cos A then (R& P) ( )
A) LA=30° B) LA=45 C) LA=60° D) LA =75

24. A dtick of 7misleaning with awall by making 30° angle with the ground. Then the
diagram representing the datais (Rep & V) ( )

7 7 7 7
n P B)B; @il D)&

25. The set of total mutually exclusive and exhaustive events of arandom experiment is

cdled (R&P) ( )
A) Complete set B) Sample space
C) Compulsory Event D) No set occurs

26. The probability of an event isawayslie (Com) ( )
A) inbetween-1and 1 B) FromOtol
C) morethan 1 D) lessthan -1

27. Themiddlemost value of dataiscaled e p) ( )
A) Mean B) Median C) VNiode D) Novaueexists
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T8 e (dBFND(E00 BSPHTWED 808 ap@oneidd Zo@%é’)cgo.

K880 - HE6-1 - ap @0

GPEER0 Essay [ Short answer | Very short Multiple

aoasacq;ge» answer guestions answer choice
questions (2 questions | questions
(4) (4)

DTy PGS 40% 2(8) 2(4) 3(3) 2(1)
STeren DPE - 20% - 2(4) 2(2) 4(2)
QE0tHed
SEBS e 10% - - 2(1) 4(2)
bogrdo S| 15% 1(4) 1(2) - -
@véaéocﬁ?géézﬁaéa - 15% 1(4) 1(2) - -
CSe)%ééozﬁaéo

HBgo - DHE-ii - ap (Dos

GO0 Essay | Short answer | Very short Multiple
Reiose | answer questions answer choice

questions 2 questions | questions
(4) (4)

DTy PGS 40% 2(8) 2(4) 3(3) 2(1)
So8een IIPE - 20% - 2(4) 2(2) 4(2)
QE00tHed
BOGTe 10% - 1(2) 2(2) 4(2)
odbogrdo Fove | 15% 1(4) 1(2) - -
8AHS e ~ 15% 1(4) - : -
é@%ééoﬁ)&)

200 @ Qoo HOIDoTHT, & rESE® EreS [Habieee H88do.
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Jolidrerd)E Jwrergosdo Jdwrar (PanNEo
feta-B
(Benid  Segigodn)

Bcho 1 15 9 + 2 K0.30 D G-I Kop Srdines : 40

Srdder 1 1 ;BB 15 Aeod® Hanp@snts e S60 oSmrees Sostod.
2. o) DBFHed Jdrerdo (EPahod.
3. 25VEYNE (DD Jreerdioed DEPTIHSE0E®  (TeaHod. ©)o&A 2.8
DBEEDE® (oo

| (58 P§H sSrgre Toode. $8 BED 1 6,

1. A(-1, 2); B(0, 3); C(-2, 4); o3 RO (BgHeazo g DSy _530@50& EHofPosio. (1 S8)
K.3».)

2. X-05ed8 JSdroddore &) el 66@’8&)@ Bo& DoHhrHe G ST QBT ELoRPoers
V5e8eorr 80H08? (s, ) (1 So8)

3. P(-2, 3), Q(X, 6) o Bens) Tgrpoo aren -1 ©und X ewd Jos? @.2x.) (1 S8
4. log, 243 % $r§)EBoKos? (55, (1 &8
5. 3Xx?-2x+16=0 été 30880 By Sorere ARgrard) BoDod. (550, (1 S8y
6. -7, 1, 2 FeTgeorre o 00000 S, (3.30.) (1 Sr5)
7. X+2, X+4, X+9 0 ©08EBE® ok odsedo Gome? 8o 8&? (=.9) (1 S85)
1. o) BHoH JSrgrares Teaindn. (B8 BHH 2 Sedyen.

8. 7 3 Aot BokoBe éoapée:o A BoRd? (v.50.) 2 Eﬁﬂi}gp})

9. 23 w5se 5dch omy O SFHIR. @) (2 Sotipen)

10. Rddosenr A={1,3,6,9},B={12 34,5 6} e» oo AUB 08¢ A-B o I8
Dgreore SrEHol. (@.5) (2 Srednen)

11 2 Q¥ Hdere SO HOGHH 3 B Hdere MW DY HDHODTCE? sEeres®
AHB0Bo&. (=2.9) (2 SEnen)

12. A(3, 2); B(-1, 2) DotHhrHod Bend 3@@0@@& y-ogo & 3@@;6’5 DKo, (2 Loednen)
(X..)
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13.  A(2, 1); B(4, 3); C(-1, 3); D(-3, 1) 03 a5y IS S0 F0E? ([(.)
I, 38 Bas emo cabin. 8 BHD 4 Srdy,

14(a) 2.8 8?»5636(@"96@ B LD, Seen AR 7 : 5 & sTon. 8 Srerodod
3 20.&. X 3 20.&. SSoced 86090 &2 oHhre thSQ&:S éqé»q“wvst’é@ 0558590
96 $0.20.8. @ Lo SV & égzﬁéaé@?tﬁo@ T BregRpod? (w.60.)(4 Sodnen)

(Bo)

(b) &8 96 wHibe FS5$opDos 116 wbrbeo/28H JHod o Trand JGJeH™ 28
DB HBRLE. H0BrEE8Be0 32 9%5Hen/285” wond A DB oS &SNP g
DHB?  (@.%0.)

15(a) 85 a8 Eﬁ:\)ﬁgé'ﬁm@é} 808 IS Dore 256 HFo S0d.  ©wond S5 e Ho

A Iovest Jvod.  (5.3.) (4 Srdnen)
e 6 6 o o

(Ba)

(b) &8 Bos dYPY SES® a8 U™ Hioondid 3 Seersy o 200 Mev 48
D5BPHE0B. Eﬁ)@é © 3 ey Srtd U 5pd Do dkow. &dgore 10
@;cme)é’s DHo eBAS Iwdo dog FE DHBHHH? (@.3)

16(8) P(x) = x*-12x + 35 8% ([ AR 2sosbbdraeed Hiosod. (@r.8.) (4 Srdpes)
Boe)

(b) 3 Bw¥) Botd S rodere ogo 81l. & Jreroedd Kookod X o’ zétgéibééwﬁ&
8rsrofod A (MR SrHXW.  (@0.5.)

1 2 1

17(3) X+ 2y " X—2y 15 (4 srEpm)

1 B 1 _ -8
3(x+2y) 3(x—-2y) 45

0 JHoFB. %.3r.)

(Bo)
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(b) &8 5BL0E" DD Heo HBAD KD HE DR 2.8 HA 6 Sered® Frodchrot.
©BHA S0 Hen, HrHH Reo 9 Sros® Frodabriet. wand al HHDH Suov
ed @ o8 5 A Sewrost Fradamt. @)

IV, $8 B§H SSrormen @86 (mrdtode. B8 BHS % S8,

1
18. 200 o Beod ErHost Beodre (555, [ ]
A) 0.25 B) 0.025 C) 0.0025 D) 0.00025
19. A={1234756}; B={2 4, 6} wowd (. [ ]
A)Be A B)AcB C)BcA D)AcB [ ]
20. af fo osuHed® X Ho SEFE @.0.) [ ]
A)a+B+y =0 B)of + By +yo =0
C)afy=0 D) wer rg5o w2
21. 2x - 5y = 17 %0600 4X - 10y = 8 3&u8seren (.9.) [ ]
A) K08 $nEBesen B) edose $&nE8emen
C) 358 $o8Besren D) 232 =29

22. ToH KD $res Soggeo oo 56, & Do) S0 e d&08Be0 (5.5 [ ]

A) xX2+x-56=0 B) xX*-x+56=0
C) x2+x+56=0 D) x?-x-56=0

23. Bo& DoHoet X JErdseen ‘© @ond & Botd DodhHeD 33603653 Bereoo e (=°.9.)
A) 0 B)1 C -1 D) o | ]

24. 1,-2,4,-8 ... &30 @) [ ]
A) ©0¥3B B) hea(ZeB C) Bow D) H8&® dbsh

25. 308 A={x:Xen X < O} ®owd (&) [ ]
A) A ={0} B)A=0 C) A = {¢} D)A=4¢

26. ox? + Bx +y=0 g JBBS .3) [ ]
A) b? - 4ac B) b2 —4ac C) B2 - 4ay D) B2 + 4ay

27. Bokh SBoedHen EOAS Botd B H&oEberest eeh)dy rhesoseen Hdakn Joroste A
DErdo wand & $E8ered o Tpe (.9.) [ ]

A) o&s Sped B) 585903 Bgen C) $&0888gen D) 239 =%
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Summative Assessment |11 - Model Paper
Mathematics
(English Version)
Time: 15 Min + 2 hr. 30 min. Paper-I Max. Marks : 40

Instructions: 1. Read the whole question paper and understand every question thoroughly,
without writing any thing and 15 minutes of time is aloted for this.
2. Answer dl the questions.
3. Write answers to the objective type questions on answer sheet, but at same
place.

.  Answer every question. Each question carries one mark.
1.  Find centroid of the triangle formed by A(-1, 2), B(O, 3), C(-2, 4) (Ps)

2. How do you find the distance between two points on the line paralel to x-axis.
Explain. (R& P)

If the Slope of linesegment joining P(-2, 3), Q(X, 6) is-1, then find x. (Ps)
Simplify log. (Com)

Explain the nature of roots of 3x* - zx + 16 = 0 with reasons. (Com)

o o M~ W

Find cubic polynomial with the zero values -7, 1, 2. (PS)

7. Can x+2, x+4 and x+9 be in A.P. Justify your answer. (R & P)

II.  Answer every question. Each question carries 2 marks.
8.  How many two digit numbers are divisible by 7 ? (Com)
9.  Show that 2,/3 isirrational number. (R& P)

10. If A ={1,36,9},B={1,2, 3 4,5, 6} thenshow A"~ B and A-B asVenn diagrams.
(Rep & V)

11. Aresetsof multiples of 3 and muliplesof 2 digoint sets. Justify your answer ? (R& P)

12. Find the ratio in which y-axis devides the line segments joining the points A(3, 2),
B(-1, 2). (rs)

13. Find the area of quadrillateral formed by the points A(2, 1), B(4, 3), C(-1, 3),
D(-3, 1) (rs)
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[11. Answer every question. Each question carries 4 mark.

14(a) The length and breadth of a rectangular metal sheet are in the ratio 7 : 5. Four
3cm x 3cm squares have been separated from the cornersof that rectangle and it has
been moulded into acuboid of 96 cm?® of vdume. Find the area of the rectangular metal
sheet take in the begining. (Connection)

(OR)

(b) A stoneisthrown verticaly upwardsfrom abuilding of 96 ft hight with ainitid velocity
of 116 ft/sec. If the accellaration due to gravity is 32 ft/sec?, then after how many
seconds the stone will reach the ground. (Connection)

15(a) Rama has arranged 256 dots to draw arangoli in the following ways. In how many
rows has she arrange the dots. (Ps)
e o o o o
e o o
o
(OR)
(b) In anuclear fusion reaction a U Nuctous will split two lighter nuclear creates 3

Nutrons and 200 MeV of energy. ‘i'hese three Nutrons will again split three U%*
Nucleas. Find the energy released if this process continuous for 10 stages. (PS.)

16(a) Draw the graph of p(x) = x2 - 12x + 35 and fidn the zeroes of the polynomial of it.
(OR)

(b) The product of two consequetive multiples of 3is81. Form aquadratic equation and
by using this information draw its graph. (Rep & V)

2 1
+ ==
17(a) Solve x+y  x-y 15
1 ] 1 _-8
3(x+2y) 3(x—2y 45 (PS)

(OR)

(b) 5women and 3 men having same capacity can complete awork in 6 days. And 3 men,
3 women of same capacity together complete the same work in 9 days, then in how
many days a women or a man can complete the work. (Ps)
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IV. Choose the wright answer, and write the correct answer in the brackets.

. 1
18. The decimal form of 200 IS (Comm) ( )
A) 0.25 B) 0.025 C) 0.0025 D) 0.00025
19. A={12 34,5 6}, B={2 4, 6} then (Comm) ( )
A)Be A B)Aec B COOBcA DDA B
20. If thereisno x term in a cubic polynomial then (R & P) ( )

A) o+p+y =0 B) af+pytay =0 C) o+p+y =0 D) Not possible

21. If 2x - by = 17 and 4x - 10y = 8 then these equation are (R & P) ( )
A) Consistant B) Incong stant C) Equa D) none of the above

22. The product of two consequitive numbersis 56. Then quadatic equation formed by

thisis (Comm) ( )
A)x?+x-56=0 B) x2-x+56=0
C)x*+x+56=0 D)x?-x-56=0

23. I x-coordinates of two points are zero. ~hen dope of the line segment joined by these
two points is (R& P) ( )
A) O B)1 C -1 D) not defined

24. 1, -2, 4, -8, ... IS (PS) ( )
A) AP B) GP C) Both D) None of these

25. A={x:xe N; x < 0} then (Comm) ( )
A) A ={0} B)A=0 C) A= {4} D)A=¢

26. Discriminant of ox®+ Bx +y=0 (Ps) ( )
A) 7 - 4ac B) \b?-4ac C) B* - 4oy D) B* + 4oty

27. Theratiosof corresponding co-efficients and constantsin 2 two variable linear equations
are equal. Then the equations show the lines (R& P) ( )
A) Inter-secting lines B) Coingding lines
C) Pardld lines D) none of the above
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Summative Assessment |11 - Model Paper
Mathematics
(English Version)
Time: 15 Min + 2 hr. 30 min. Paper-I1 Max. Marks : 40

Instructions: 1. Read the whole question paper and understand every question thoroughly,
without writing any thing and 15 minutes of time is aloted for this.
2. Answer dl the questions.
3. Write answers to the objective type questions on answer sheet, but at same
place.

I.  Answer to all the following questions. Each question carries 1 mark. x1=17
1. Statethe formulato find Median for a grouped data and explain the terms. (Comm)

2. The information realted to the health tests conducted for students of a class are as
follows:

Blood Group A | AB B O

13 12 5

(@}

Number of Students 1

If astudent is selected at random *rom this class, then find the probability for the blood
group of that selected boy 0 be 'B'. (Ps)

3. Whenaline segment is drawn with two midpoints of two sdes of atriangle. Then relate
the line segment with the third side ? Justify your answer. (R& P)

4.  If acone, hemisphere, cylinder are on the same base and having the same height, then
what is the ratio of their volumes. Justify your answer. (R& P)

5. Writetrigonometric identity in Tan © and Sec 6. (Comm)

6.  If thelength of shadow of atower is /3 timesits height, then the angle with which a
person standing at the end of the shadow will see the top of the tower. (Ps)

7.  Foracirclewith centre'o, 'p' isan externa point.
If PS and PT are tangents drawn to the circle,
then find |POS. (Ps)
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[I.  Answer all questions. Each question carries 2 marks. 6x2 = 12

8.  Prepare ascending cumulative frequency table for given below.
In acompany the salaries of employees and their number like this. (Comm)

Employeessdary 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35| 35-40

Number of employees 4 45 20 13 9 7 2

9. Iftan6+sn6=m,tan O -sin6 =n, then express the value of m? - n? in terms of

m and n. (Comm)

10. Inaleep year find the probability of getting 53 Sundays. Similarly find the probability
of getting 54 Sundays. Justify your answer. (R& P)

11. A sguareof side 25 cmisdivided into nequal small squares. If circlesaredrawnin
each of these small squares touching all the sides, then find the area of the given square
not covered by these circles. (ps)

12. If there spheres of radius 3 cm, 4 cm and 5 cm are melted and cast into alarge sphere,
then find the radius of the large sphere so forrned. (Ps)

A

13. TriangleABCisanisoscdestriangleinwhichAB =AC. v

Point D ismid point of AC. If acirceisdranw passing ¥
through B, intersecting AB at Pand 'D’ as point of contact
so that AC isatangent to the circle at D, then prove that

AP = % AB. R&P)

é\/ c

[Il. Every question is provided with internal choice. Each question carries 4 marks.

14(a) From any point in the interior of the triangle, lines are
drawn paralldl to the sides of it. If the areas of the three
small triangles thus formed are 4, 9 and 16 square units
then find the area of the given larger triangle. (Ps)
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(OR)

(b) For acircle with centre'o’, point 'T'isan
external point. TA and TB are tangents
drawn to the circle from T. Chord AB

intersects A0 a C. If
L +i=ithenfindthevalueof
OA* TA> 36

AB. (PS)

15(a) The Crop yielding for a hectar of 100 farmers of avillageis given asfollows:

Cropyidding (inquintols) | 30-35 | 35-40 | 40-45 | 45-50 | 50-55 | 55-60

No. of farmers 4 6 12 24 32 22

Represented the above data in the form of aless than cumulative frequency curve.

(Rep & V)
(OR)
(b) Draw aline segment AB of length 20 ¢m. With 'A’" as centre and 5 cm radius draw

acircle. With 'B' as centre and 2 ~in radius draw another circle. Draw tangents from

centre of each circle to the uther circle. (Rep & V)

16(a) The perpendicular sides of aright triangle are 6 cm and 8 cm. If it is rotated about
its hypotenure, then find the volume of the double cone so formed. (Comm)

(OR)

(b) A rectangle ABCD isdiscribed in acircle of radius 6
cm. Diagonals of that rectangle interscit at 'o’ and one
of theanglesthus B formed is ‘@’ then find the area of

the rectangle ABCD in terms of ‘@”.  (Comm)

17(a) A tree was broken by awind and top of the tree is touching the ground making an angle
of 30°. If the point where top touches the ground to the bottom of the tree is 20m,
then find the height of the tree before it was broken. (ps)
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(OR)

(b) Find Arithmetic mean for the following data. (Ps.)

Marks 0-9 10-19 | 20-29 | 30-39 | 40-49 | 50-59
Number of students| 3 8 14 21 9 5
IV. Answer all questions. Each question carries% mark. 10 x % =5

18. InAABP, if 'c'isapoint on BPsuchthat |PAC = | ABC,
then PC.PB is equal to (Comm)

A) AP? B) AC? C) AB? D) BC? [ ]

19. Theaverageof 13 scoresis 8. If one of the scores 20 is deleted from them, then the
average of the remaining scoresis (Ps) [ ]
A)7 B) 5 C 21 D) 12

20. If the base radius of aright circular cylinder is 14 cm and its height is 21 cm, then its
curved surface areais (Ps) [ ]
A) 616 cm? B) 1848 cm? ) 3080 cm? D) 12936 cm?

21.  Which value among the following i< not possiblefor sn6 (rR& P [ ]
e B) — 0 = D) =

) 2 ) 72 ) 3 )5

22. which one of the following isequal to Sin x is (Comm) [ ]

) V1-Cos? x B) Tan X o Sin x D) V1+Cos® x
Cos x V1-Tan* x V1-Sn? x Cos X
23.  Which one of the following istrue (R& P) [ ]

A) When two coins are tossed there are three possible outcomes, two heads, two tails,

1
one head and one tail so its probability is 3

B) When adiceisrolled the possible outcome is an even number or odd number so

1
its probability is >
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C) A deck of 52 cords contain 4 suits. So the probability of a selected card to become

1
aceis
D) Out of three students, the probability for two students to have the same date of birth

inayear is 3.65

24. ABCD isaquadilateral and a circle touches the sides of it a pointsP, Q, Rand S

respectively then which one of the following istrue. (R& P)

A) AB + CD = BC + DA B) AB + AD =BC + CD
C) AD + DC =AD + BC D) AB+BC+ CD <AD [ ]
25. In APQR, E and F are points on sides PQ and PR respectively. In which of the
following situations we set EF || QR (R& P) [ ]
PQ PF PE _ EF PE _ PF PE _ QE
A —=— B) =5 = ~5 C) =~ ~ =5 D) =& = ~5
PE PR EQ QR EQ FR EF QR

26. If P(E) = 0.05 then express the probability e “Not E" in percentageis (Comm) [ ]
A) 5% B) 95% C) 0.95% D) 0.05%

27. Intheformulaof mode

of-f ]
mode = | = |:2f_—fo_f2JXh’ f, represents  (Comm) [ ]
A) frequency of preceding model class
B) frequency of succeeding moddl class
C) frequency of model class
D) frequency of zero model class.
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Qogdees0 BHee B BHee BHe»
(16 Eﬁavtﬁ)&e») (12 Eﬁwtﬁ)&e:o) (7 zﬁnvti:&en) 5 éﬁé}&m)

Sy PSS 2 2 2 4

(16 setiyen) (x4 =8) | @x2=49 | @x1=2 |@x; =2

SBeamen B0

0BAsn AbTHes - 2 2 4

(8 Eﬁ)ﬁé}&w)

SBDBES0 - 1 1 2

(4 setipen) ax2 =2 | ax1=1 |@x; =D

SR ISTeI TN 1 - 2 -

(6 SeEnen) (1x4 = 4) 2x1 = 2)

é@)%géésazﬁw -

Eretilalrsietntate 1 1 - -

(6 263?63&03) (1x4 = 4) (1x2 = 2)

. 3808 aA&® 6t%rm KodE TS HESWD Srdod Hes» DB?

%) %) 2
[
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BErGES B

Section-|
oeHO I0H0o
1 SR = . = _ 24+2+3+2+5+2+7+2+10 -9 (l éy&&)
ooHo Loy 5 2
+2
XD~ 9 - xG2BRE
= 5x =20
= X =4
2 7+2+1 22
256 St oibe Bien = +5+X+3 t2410 ng (2 sy
2
= w = 3—; = 11.3
2 Bt 555 505 Sop G sy
5 « 12 12 3
DO @cﬁ‘g Dogra® = [{0+13+1245) = 20 - 10 - 0.3

3. MUsn TResEn = I obHod Tsin® 10% 2008 myEn = (LD (1 &rdy)

[(LYr] -r

FESD 505005 measnst EHEe sPesiy 3
r

%100

(1.33-1) x 100 = 33.1%

4. Bogn, @gﬁs@féao, S FoR00resne DY (r grawes, dEen HedKD B8

I=h, =r)
- Ll 21003 (1 Sdp)
37 3 P2
5. tan®+sn6=m, tan 6 - Sin 6 = n wowd (1 Sety)
n? - n?> = (tan 6 + sin 0)? - (tan 6 - sin 0)?
= 4tanB9n0 = 4Jmn
h_ L
6. Tanb =73 NE = Tan 30 (1 S8p)

88w = 30°
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7. OPT = 30° = |[POT = 60°
= AOTP= AOSP

POS = 60°

8. 0080 (Bghe gheren HBAW & Soden DBJoggen T FRloetets (B8Swens® )k
é&‘éospé@) éé’gséé) Do, Swodorre

(1 St

3, 4, 5) (6, 8, 10) (7, 24, 25) ... T8 (6, 8, 10) =S (@0

6 +8 + 10 = 24 Depfod DePFod = JTOgm 9 JWoPID SBAIR.
1

5 X6 x8=24 P ®0kE ghere Foded 6, 8, 10 ™ HBOBDHNY).
9.  Tan (90-6) = Cot 6, o$e  tan 0 . tan (90-6) = 1

Tan 75 = tan (90-15) tan 15 . tan (90-15) = 1

Tan 65 = tan (90-25) tan 25 . tan (90-25) = 1

Tan 55 = tan (90-35) tan 35 . tan (90-35) = 1

Tan 45 =1 tan 45 = 1

. tan15.tan 35. tan 45 . tan 55 . tan 65 = 1 G sty

10. &% éo&ﬁé&é:ﬁwé{’ 366 &Perenotron.
366 = (52 a@8swen) + 2 &aren
2 SParen = wHTEIM + OJoe 8w e

BT B0 29 WHTEIL wand WADSIT e FT ad TEHTe oy WISIL Gob.
I 52 FEEWON0E 52 whTrEime, @dInr 6J) 2 Ferod® .88% wdTEin wow
ADSB e Erme wHTEID wowd (Fwdoes 54 whHTEIV) Bogrsgs

1

7
2 Seren = (w6, W), (B, H00K5¥) (HoKy, ang) (208, HED) (9B, HE), (B, ¥),
(32, «8)
O3 0B Foede Qdogg = 7
IR oede Joxy = 2 (886, D), (¥, ©6)

2
. 53 sHTEInen 56313 éoaﬁéﬁ?gé = 7
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11.

12, 3 0.0, 4 20.0. HOE 5 0.0, THEIw LS D AEEwe

FRDBEE0e IndEn = gn(33+43+53) = gﬂ'(27+64+125)

4
— (216
* r(2160

. ABES "‘oaféﬁa%faé:o ¥, a;g@"géao = 6 2o.5v. (1 Soo5)
13. AD éo)tégésp, APB é@éf@(ﬁééa:

. AP x AB = AD?

1 2
= APx AB = (—ACJ

2
1
:>AP><AB:ZAC2
-
T4
1
—~ AP :ZAB
— AB = 4AP
.+ AC = AB
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14 At N AABC

At,N AABC
At,N AABC
At,At, At, AABC &sbesive
ghassimen HLJe €, C,, C,, C B8 omro. &4 —Lh—c';,_ﬁ by
At d=eeg0 c? «
= = (B85 243 Feregsine D o€ BT gHere

AABC Zzrex0 c
SPwe AHBE d5do)

A 1, d=eeg0 c
AABC g=rex0 T2 @
A 1, Sz°eg0 ) &2 _ At N At, S N Aty
AABC 3ze0  C AANC @&  AANCa@  AABC &
V44434410 _ 6,6 ¢
A ABC 3 c c ¢
- St6tG _C_y
N c c
2+3+4

_— = - C
= AABC 1 = JAABCa =9
. AABC 3u = 81 &5.c5meép.

Sowe

S s’ BT HothdHod DGH Te, A
8 DooHHood AdD X)O)dqﬁspe)?ﬁ SIepaR

(636,3&0650@@260 L0298 Darpoddnd oo T

Q0ERPOED ?‘3@0&.

TO | AB *

AOAT Fzresio

%xOAxAT

%xOTxAC

%xOAxAT:%xOTxAC

AOAT Baresio
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2HIHee Sgo Sodhre

OA2 . AT?= OT?. AC?
1 OT?
AC? OA?.AT?
OA? + AT? 1 1
2 2 = 2 + 2
OA". AT OA" AT
R PEeridd drpod @seso  OA? + AT? = OT?
D BB (H8 + 1 - i
S O8 BSO0 GaT T AT T 36
1 - i AC=6
AC? 36 T
AB =12
15. BB88 ©oso é:éeg Qenden §J°262‘q§)26§o @88 HodE
C.l. f
30-35 32.5 ‘ 4 4
35-40 37.5 6 4+6 = 10
40-45 42.5 12 10+12 = 22
45-50 47.5 24 22+24 = 46
50-55 52.5 32 36+32 = 78
55-60 57.5 22 68+22 = 100
G
o
a
Q] X-0g5wp 1 0.8, = 5 chrdéy
\3‘ o
Q0 y-o5wR 1 0.8, = 10 cordey
a -
&
\g e
L
o+
”37:( znjf Lui'f q‘?-\’ f,us’ s’v.\’ ' ,

173
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X-05in3 S8K8 Hg Jevdodn, Y-o5ing ubin K028 PLIKpEweH SO (D
AcSe®.

16.

VT%ea( B0 :

0)

0)

10 0.8, §r&YH Ko Bereoddndd ?o&en J5BAH50E® Acsodm.

830 AB o9 'gotﬁﬁaéé A BoBsn 5 20.8. TFPEED o B, B Zo(Ssorr
3 0.8, TG B0 B Agyohiw.

AB D8, ©0OSERPOLD B AD AB BwE) SoesgotHH M = 580w,
M % Soswrr &80 AM €= BM mg@géwm BX0 AcSodw.
&3 aée)ééw 5 20.&. a‘g@"géw e éaéé:o?éa Po&od DotdhHod R, S eore HBoHsw.

BR, BSoi Sendsm. BR, BS en A Sol@sore K E)CPEVVINSY @égéspw BTakalatssed
B So(gsswre QBB AP, AQ o AcS.

ABC oo28%s (®2besso
AB = 6 20.%., AC = 8 20.&.,

- BC= 10 20.%.,
OA =X, OB = y edsomro
ABOA 71 ABAC
y_x_6
= 6 8 10
_ 6x6 36
= VY = —10 = o
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%—64 OA =12 0.5
10 -6 . = 0. aD.

X =
OB = 36 2o0.%.
Ex80gn) w58 DD IHOTEIW

%;z (OA)*x OC + %7[ (OA)*x OB

%n (6.4)"x 64+ :—]3-7[ (6.4)°x 3.6

:—]3'75 x 40.96 x 10

419.67 055 20.8.

17. Bey & = X +y oddHowro.

tan 30 = —
anyv =5
20
-~ X = ﬁﬁbeﬁo
Cos 30 20
0S =
y
2 _ s 2
2 Ty YT BB
2 40 _ 60
BT N N RN
_@Xﬁ:_a\/g
- J3 43 3
= 20V3
= 20(1.732)
= 34.64 e
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Soe
Soednen 3)55353& Sogyg oG Denden

C.l. f X fx
0-9 3 4.5 13.5
10-19 8 14.5 116
20-29 14 24.5 343
30-39 21 34.5 724.5
40-49 9 44.5 400.5
50-59 5 54.5 272.5
> f 60 2. fx = 1870

2 fx _ 1870

Qnen = Z_f - 60

= 31.16

S0EgDenHen ELorP08 1 Suzev]
fX Denden EHFI0HH 1 S8
IfX, Tf Qenden SIS0 1 eV
B Deodd BRI 1 Hd),
18. og%EE (D&
1. pcpb = AP Option @ is correct.
2. 13 o Jtn 8 = THe B éospeg = 13x8 = 104
20 &OR0IDES Tode wsw = 104-20 = 84

84 _ 84
poRR =gy T2 =T

Option @ IS correct.
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3. drddn g HBe Jwege = 2mrh

= 2X % X 14 x 21 = 1848 $.20..

Option is correct.

Cot52 tan 24

+
4. tan 38 Cot(66) 52, 38 are complementary angles
- Cot52 = tan38, tan24 = Cot66 24, 66 are also complementary angles.
Cot52 N tan24 1+41=2
tan38  Cot66 -
Option is correct.
J1-Cog? tan x tanx _ .
5. v1-Cosx COSX=tanx, = ——_ =9nX
Cos x l-tanx 9nX

Snx _ SnX _.oo 1+Cos’x _ [ 1
Ji-Sn’x  Cosx ’ Cosx  \Cos’x+1
.. Option is correct.

6. PIEDH HOODSHH (1, 8, 5) oo (2, 4, 6)

2, 4, 6 ROV oeowen I 2 e ©DEPO o IS Fotoden

3_1
Qogreyd = EZE
.. Option IS correct.
7. AP =AS AP+ PB+SD +Cd = AS+CR + DR + B¢
SD =DR AB + DR + Co = AB + SD + Co + Bo
PB = Bo AB + BC = CD + DA
Co =CR

-, Option @ is correct.
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. FPE_PF P
" EQ FQ 2
-~ EF || QR
. Option@ is correct. o}
9. PE) = 005 P(E) = 1-005
= 0.95
PE) + P(E) =1 P(E) 58kmod® 0.95 x 100 = 95%
-, Option is correct.

10.  fO @8 adodd S8K8. Swoth SEK8 LeHBgEnsd Do,
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C) A deck of 52 cords contain 4 suits. So the probability of aselected card to become

L1
ace|s4

D) Out of three students, the probability for two students to have the same date of birth
inayear is 3.65
(vi) ABCD isaquadilatera and acircle touches the sides of

it a points P, Q, R and S respectively then which one
of thefollowing istrue.

A) AB + CD = BC + DA B) AB+AD =BC +CD
C) AD + DC =AD + BC D) AB+BC+ CD <AD [ ]
(viii) In APQR, E and F are points on sides PQand PR respectively. In which of the
following situations we set EF || QR [ ]
PQ _PF PE _EF PE _ PF PE _ QE
A — = — B) =~ T Ao C) =~ " b D) =&¢ = ~n
PE PR EQ OR EQ FR EF QR

(ix) If P(E) = 0.05, then express the probability of "Not E" in percentageis [ ]
A) 5% B) 95% C) 0.95% D) 0.05%

()  Intheformulaof mode

— fl — fo
mode = | = |57 |Xh, § represents [ ]
2f —f,— f, 0
A) frequency of preceding model class
B) frequency of succeeding moddl class
C) frequency of model class

D) frequency of zero model class.
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